2023475 1L XAER & T 50k A B 2 2L W B AU 44 &

75 fHiE 4 G iE Sy PN
1 2l T HE 44 0%kkkkskskk Ak k684 2800
2 Sk [ 320%kkkskkkdkk x4k 26 6000
3 Vo] R H B 44 0%kkkkkk kA% 8 1 6 6000
4 VhiE] i BH 440kkkkdskskokdokx 1 53 6000
5 BB TRy A40%kkskgsk Rk Ak R ] D 2450
6 B WAL 44 ] kkxxK AKX X836 800
7 Al X1 A4 0kkkkkkkkk k%63 198
8 gL bJE]N 440tk kR0 3 | 1360
9 L ] 4403kl okt 5 36 2000
10 [E2pil} 25 1 i 440kskskskstskeskokdokk T4 3 800
11 FA Ll EFFRE 440k Rk 18 798
12 20 FEIT 360%kkskskkkdkokkAkT 2 180
13 F Ll F L 360kkkpokoktok T 1 2 1500
14 Al R A30%kkk kAR AAKEHS 399
15 [E2fiN] kit A30%kxkkkkkkk % %558 920
16 il L] 52 2sksksksksksiskeokekiokq | | 193
17 I PRifk 4503k ok ok k61 5 2000
18 = [tk 450skkskskskskskskokekokk6 1 5 889. 1
19 L FAHE 440k k684 2000
20 i fr] S JA0HRI kR DX 1294
21 53k TALR 440%kxkkAkkkk* %816 5998
22 m sk e 440skpikksok k5 | 4 200
23 m sk F2E3C 440k ok %396 1879. 8
24 Bk FZEC 440k kR %396 3589
25 sk K2R 440kl piokk3 | 8 400
26 ViR Z2[H PR 61 23tttk k(070 6000
27 VbR 2 [H Fr 61 2tttk k(070 600
28 M| X1 TG 4 A4 ] kkxxk 500k %% %966 399
29 VT =S A40%kkxx %500k k%% 8] 4 600
30 VhiE] FLA=y 440%kkkkkskk KAk K (035 1000
31 Vb e 44 0siosoletsoltiornk 4 16 1899
32 Vb REG e —m——s T 948
33 ViR oY 440k Rk k816 12800
34 Vol 2R H B 61 Qs | 15 12000
35 Vo] i 440kttt 8 15 399
36 Wi = ) H 44 0skstkkok k55 3 968
37 Vo] JEE A40%kkkAk KR ARK DT 800
38 NG| B A40%kx kKRR kKX %820 600
39 by KK 440%kkxk kR KAk K 355 800
40 YHIA ] B 4403k ksrkokok k9 [ 4 6000
41 I W 650tttk 02X 3000
42 Jes 1 AT 360ksekskopsicickiok( 1 8 1500
43 I 11 1k 5 AR 42035kttt 612 1389
44 iy m| VY e 430%Kkk kAR ] 14 800
45 B ZAHAL 440k Rk k64 | 800
46 Wk 2S5 4% 440%kkkksk kR Ak KB4 | 500
47 MR S 440k ok k3 1 3 1496
48 BEUE Hh 130skskioriokiopk k] 29 6000
49 B =Yk My 440kl k644 3850
50 HeUs 5 i B 440%skk k%010 998. 98
51 HEIE RN A4 0k Rk AR5 D5 2000
52 Bk RUTIE 440tk ok ok k5 25 928. 6
53 S e B 440tk RokkT 19 748
54 BRUE HHE 330tk kx4 22 1500




55 Wk EE 440k %01 6 1500
56 Wk W 5 A4 TRk k%4617 648. 98
57 BB HER R 440k %0 10 1994. 01
58 kg HEEZE 330xkxkkkkkkkk*4 20 1400
59 [N Wk H 44 0skssRkok ok 346 1500
60 T R I 4403k kskokok k0 30 800
61 T TR 4403k krkokok k(0 10 3200
62 THEE ok Loz 230kskskskskrokkdokokk 519 12000
63 ] 25 2 Ik 4403k kkkolkokk 36X 200
64 T XIF1E 4403k kkokok k089 300
65 75 TR XU FUE 440% KKK 089 1500
66 ) XU FUE 440%K KKK 089 500
67 TETH FxiE A 440kkxkkARRkk k%346 859
68 ) Vak-3.c] 440k KKKk R %04 | 789
69 iy R 440%kkskskskekskskokskskk 2 3 | 2000
70 BEfg WHEEs 440K B2 2000
71 BELfg MReE A20%kkkk kKA KKK KL 22 1500
79 B SH1E 2 330skskskskskskskkokskkk ()1 0 2000
73 B = 440kkxkkAkkkk k%048 2000
74 B Ik 21 0skokskkdotokokk (015 2400
75 B W 420%kxkkdkkokokk k(034 1500
76 B VLHERE 420Kk kKKK %441 3 1223.2
77 BELfg A v A40kHHH X068 1000
78 B ERE 440%kxkkdkkkk k%330 1000
79 B Yakol] A30%kkkkk kK% %%03 1 900
80 B JE B 440Kk KB ] 2 199
81 B FIHPE 440%kkxkA ARk kxR 08X 2000
52 e Hi 610%kkkkkkkkkkk2 38 994
33 B G 4% B 440%kkkk ARk k%838 299
84 B [ AR 41 0kskrkdoiobokokokk k(022 3000
85 B L 440k %5036 2000
36 B F5 BB A4 TRk k%% 03X 2000
]7 B J=BS 8] 44 D kkrkdodokkokokk k(03X 1000
38 B | 430skksksketskewssketokk (03 1700
89 B4 K- 430kskskskskskskskskokoksk()] 2 1500
90 Hi LEm 51 Issksmskksrk019 500
91 T RUR 44 (ssotiootoiontord 19 748
99 B4 S A4 0%kskskskkskskkokokkk (036 998
93 i [ B 510%xxxkkkkk%%%360 2200
94 T [ 57 51 0skskskkkarrolorkk 360 800
95 EwE B 330k 225 2340. 06
96 T 7 [ 330sksktkokkkokokk k225 498
97 R RV 360skskskskskekeketotstokok 1 38 198
98 T AR IR 360%kskskskskskkokkokkk ] 38 3000
99 7 B A4 Qskskskskskskskoksksksksk (04X 1500
100 TS LR 440k A 32 3000
101 B R 360xkkkkkkkkkk k(016 600
102 i X 5L 650k kKKK KKK KK KKT 29 299
103 T XI5 A 650k HHHHAAAAAKRT 29 159
104 B YR E 440K ] T 1000
105 W YR 44 0sksdkseksksioksokk 1 79 1699
106 R ! 51 Qskskskskskskskkokskskok 35 | 1732
107 Bens i} 510skskskskskskokkdokokk 351 1499
108 Bk —K 440k k%232 949
109 Bk fE—k 44 0kkxkkdkkkok k%232 2500
110 EER ] 61 2%kkkkkdokkokokkk5 1 4 6000
111 3k KZR 440K (25 6000




112 VRG] L 440kttt 035 2500
113 B 5 A440skskcktsskskok k%298 3000
114 e LG P 42 2kstletolooollok 227 1500
115 2N T EIT A4 kkxxkskkkk k%714 1500
116 Wl i R 4403tk k07X 2800
117 mwl i 5% R 4403tk ok 0 TX 2000
118 Mk e o 44 0sorsoletsolotior 1 12 6000
119 3% KT 61 2skskskskskskskokokskkk 525 6000
120 g3k TR 51 2sksksfstokekstokokakatok() 1 7 6000
121 Vb % 4% B 4403k ok k8 18 6000
122 B JAHAR 360k kiR T 39 2000
123 BEIR [ EE] 4203kt 0 1 8 12000
124 B R4 7 P —tT) 2000
125 B il 22 skksikofokk k62X 1803. 27
126 B YRR 440kl Rk k63X 1000
127 Lo FTE 51 0skskskskskskoskekskoskkok 53 1 1500
128 i PR £ 420Kk ok Ak %420 2400
129 iy JO 220skkskskkkk A AR 3D 7000
130 B J e 220%skskskekskekskokskkk 532 2400
131 Hifg FHLIE B —t 5000
132 il R 2540 44 stk ook k049 6000




